»

2| WEH"® AIRAURIERIZTE 23| TWO5

WEH " TWOS5ER3ERIZTE

P&

S2h
AiRERE
WEH®R M B EIEE
O E B IR EY)
ANBETERGE
S Z1ith=gs
SREME
Bl 3= wrzinsl

WEH® TWOSHRIZ B RIS REVE FEEEHEREBS ME - RRBESEMBHES - EULIEAErRE 85
B 7 EIE RGBSR - IR EER ERIRB AL RIFE SRR -

i35
BEARRERINEERAHNABSCAEG - Sl )R - fPT - BERE - Bt -

i ARIEERER - 52 H8Page 83RMTE -
R ARAR

BIERT 5 - 12 bar compressed air

RESHE +5°Cupto+80°C

R 1x 10 mbar x /s

e glamping jaws: Cgrrosion—rgsfistant stainless steel

uter parts: Anodized aluminium
BHME NBR
HEREHEERM

B 2o 0-2071/08/00027-7-3 | www.weh.com



» WEH"™ TWObRIEETE

ORDERING | WEH® TWO05 Quick Connector

approx. dimensions (mm)

B

D2
D3
D1

D1
iOO (0] OOi

L1 L2 g L
Body size 0 - 4 Body size 5 -6
Body size [inteLr:\l;ltt?wlead]
0 G1/4" 8.0 38.0 - 3.6 75.0
1 G1/4" 15.0 38.0 - 10.0 75.0
2 G1/4" 19.0 38.0 - 10.0 75.0
3 G1/2" 23.5 48.0 - 9.0 80.0
4 G1/2" 27.0 48.0 - 9.0 80.0
5 G1/2" 32.0 48.0 54.0 1.0 115.0
6 G1/2" 40.0 48.0 54.0 11.0 115.0

Metric ISO thread to DIN 13 - acc. to DIN 3852 part 1, form X and Y

Lmin
Thread A .
Part No. Body size (internal thread) Lmin

wj TWO05-W8046-045 M5x0.8
TW05-W8012-045 1 M8x1.0 7.0
TWO05-W8013-045 1 M10x1.0 7.0
TW05-W8042-045 1 M10x1.5 7.0
TW05-W8014-045 2 M12x1.0 9.5
TW05-W8015-045 2 M12x1.5 9.5
TWO05-W8041-045 2 M12x1.75 9.5
TW05-W8039-045 2 M14x1.0 9.5
TWO05-W8016-045 2 M14x1.5 9.5
TW05-W8017-085 3 M16x1.5 10.5
TWO05-W8018-085 3 M18x1.5 10.5
TW05-W8019-085 4 M20x1.5 10.5
TW05-W8020-085 4 M22x1.5 10.5
TW05-W8021-085 5 M24x1.5 11.0
TWO05-W8040-085 6 M30x1.5 12.5
* Lmin: minimum thread length
P
T 'lMEH | .wwwehcom 0-2071/09/00027-7-3 a B



2] WEH® AIBATRIREETA

» WEH" TWObRIEETE

Whitworth tube thread to DIN ISO 228-1 - acc. to DIN 3852 part 2, form X and Y

Lmin

Part No. Body size [int;:;iatiéad] Lmin*

% IiI TW05-W8000-045 1 G1/8" 7.0

ﬂ TW05-W8001-045 2 G1/4" 9.5

TW05-W8002-085 3 G3/8" 10.5

TW05-W8003-085 4 G1/2" 10.5

TWO05-W8004-085 5 G3/4" 11.0

TW05-W8005-085 6 G1" 12.5

* Lmin: minimum thread length
BSPT (tapered Whitworth tube thread) - acc. to DIN 3852 part 2, form X and Y

s Part No. Body size [inte-l;':;iatiriad] Lmin*

% j TW05-W8043-045 1 BSPT 1/8" 7.0

TW05-W8044-045 2 BSPT 1/4" 9.5

TW05-W8038-085 3 BSPT 3/8" 10.5

TWO05-W8045-085 4 BSPT 1/2" 10.5

TW05-W8053-085 5 BSPT 3/4" 11.0

TW05-W8047-085 6 BSPT 1" 12.5

* Lmin: minimum thread length

NPT thread (ANSI/ASME B1.20.1-1983) - acc. to SAE J476a

Lmin

-

Body size

Thread A
(internal thread)

TW05-W8006-045 1 NPT 1/8" 7.0
TW05-W8007-045 2 NPT 1/4" 9.5
TW05-W8008-085 3 NPT 3/8" 10.5
TW05-W8009-085 4 NPT 1/2" 10.5
TW05-W8010-085 5 NPT 3/4" 11.0
TW05-W8011-085 6 NPT 1" 12.5

* Lmin: minimum thread length

D-2011/09/00027-7-3 | www.weh.com




» WEH"™ TWObRIEREETE

SAE-0-Ring Boss - acc. to SAE J1926 /1S0 11926

Lmin
: Thread A e
Part No. Body size (internal thread) Lmin
) El TW05-W8030-045 1 UNF 7/16"-20 7.0
TW05-W8031-045 2 UNF 1/2"-20 9.5
TWO05-W8032-045 2 UNF 9/16"-18 9.5
TW05-W8033-085 3 UNF 3/4"-16 10.5
TWO05-W8034-085 4 UNF 7/8"-14 10.5
TW05-W8035-085 5 UN 11/16"-12 11.0
TW05-W8036-085 6 UN 13/16"-12 11.0
TW05-W8037-085 6 UN 15/16"-12 11.0
* Lmin: minimum thread length
Other connector sizes and versions on request.
BRG] BB &AL Bpage 9.
fo
DUT Be 4 o) 22 s BATWOS HRIR EGEH A
BHEEREZEH
PUFR BB BRI BERIEESESDSMIERE R
Part No. ‘ Description
E01-50292 Control housing for automation (body size 1)
E01-50296 Control housing for automation (body size 2 - 6)

FIRBORTT SR

Examples:

T W

TWO5 O E{B A

P
Q‘\II.IEH | www.weh.com 0-2011/08/00027-7-3 aa i



